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Choose the correct answer and write it in the answer table:

' Section |: from | to 20 (20 marks)

a) CPU

b) ALU

I. The faster the processor, the more expensive the eomputer

d) Pi‘imary

| | storage
2. All the following is considered as opelatmg sy stem except ...... ;l .........
a) MATLAB | b) Dos - } ¢) Windows d) linux
R, can only be read from it. It cannot be written to
a) RAM Lb) ROM | ¢) CPU d) Control unit
| B oiini s perl‘orms the computel S p;friupal 1001Cdl and arithmetic operations
\ a) cards ] b‘yl‘BLl%es 7 loALU - 7 d)RAM ﬁ ]
i 5. The number of symbols (members) in Hexadecimal 1S «...vvevvrnerinnneeeninnnn, |
L a)ls b) 16 | c) 10 ' | d) others
6. The Hard disk is ..... T :
a) CD disk ’ b)'S'eeendéry s”tor'ageﬂ | c) Pri'hirérr}f’ - g d) RAM
storage ’
7. RAM stands for ...
a) b) ¢) d)
' Reliability Access Read Access Memory | Random Access | Read Only Memory
Memory Memory
§  Which of the folloy \;1;192 is not eomputel r softwdre? A

a) Motherboard

b) Facebook

| C) MatLab

d) Operating
System




" AWhich of the following is the graphical representation of the solution of certain problem?

l

a) programming ~ | b) Structured }:ngjmh ey p‘s‘aﬁazaae‘“1&5?10\‘@@ -
' 10. the product result of101 1, X 1. 01,is |
| 110.11 lb)lOl.GlO - ‘u 110111 \"d) 100.111
I1. A sequence of zeros and ones 15 s
Q) Machine Language | b) Assémbly Language | iler l d)High Level

Language

| 17 Which Matlab command is usually used to repeat a set of commands for certain
number ot iteration?

1 a)disp | o Iib)if «,)\\hlie | Yi djfor

i, e e e e b s S S I ———E Rl R

13, The shapei] I"owchart to carry out .......

| a) printing outputs b) decisions o | ©) arithmetic l d) repetitions
‘ I I operations |

[ 14, Tn Matlab, which of the followmg symbol% can be used in if statement to say5 X not
\ ~equal to y or X is greater thany 7

{5 a) X not=y || x>y ] b) x~=y || x>y, ‘, C)) X<=y &x/y !‘Vd) x.noteq. y&&x>y
\i 15. to define the determinate of matrix A in MAT L AB, we should write ..........

‘;l a) det(A) | l b)A| ) \i A’ S 1\ dyothers

" 6. What is the value of b where x=[ 0 1 2 -1]; b= find(x<0) b=......

| )3 4] l by 4] ‘ )-1] 1 d) error

‘i 17.  In flow chart, we - can QXPIGS‘\ to the If StatememW;tl ..................

| DY =% o) 1)

| ;

- - s 1
\

= (. o B 2 . - 1
18. In a function file, if we want the three input and two putput eyt AT G swevwroromes
function [s1,s2,s4,v] = fr(a,b.c), how many outputs in the program?

! a) function (s1,52,83) = 4 b) function [sl ,s_,.,s}] = '. ¢) function gr \ d)others
- ar(a.b,e) . ar(a,b,c) (s4,v) = |
\' t [a,b,c] ‘5

- ]



E—————zﬁv——.*

- 19, Whichis the correct way to write é 2 Z in MATLAB
; 3
% D 478,65 b [1478 65 [0(47:8,6 dI14T:865 |
| ‘ .5) | |
| | |
20. The command........oooeen is to generate the random number. 1
i a) random b) rand | ¢)rnd ‘ dyrd |
1
| !
| | |
i Answer Table Section |
i
| |
‘ |Qucsti0n 1 2 3 !4 5 6 fi [8 19 ; 10 :
| no | | L | % l
\ i Answers | I \ |
[ - Question | 11 12 13 14 115 16 |17 18 l 19 i.-?() | |
| 1o | . | | i' |
e ) 1 i i
| | Answers | | | | |
| | | !
| | * 1
. . I T T |
1
\
| l
|
' Section 2: (21 marks)
|
: | What is the value of y after the Matlab code below executes?
5 a=1; ) |
| b=10; %
| y=a+b; . |
| if(a=b |la>b) |
y=y+100;
’ end
‘i disp(y) ‘
L) [ b)1 )10l ) 110 |
| | | | |
! | 1
| | L. | |



2. The output of the following code is:
sum=0);
Jfor i=100:-3:1

Sum =sum,

end
disp(s);
4)1500 )0 | ©)3000 - d)1020
3. In the following code
function p= tim{a,b)
/‘ o /‘.
while(i<=10)
a=a*l;
b=b+1;
i=i+1;
end
§=g+b:
disp(s) ~
put a=1 and b=10 then the oUPUL 1S,
1) 50 )20 ¢) 100 id)BO
‘ |
4. What is the matlabgoij‘_lrm'ahrdﬂtol »cormfrert»thre bmanto decﬁimval»?v .
2)bin2dec b) bi2de ‘ ¢)dinarydec d)bintodec
| |
5. Convert the result of 5344 +527¢=....covnn. to their binary equivalents

111101111011 b)101011001 |c) 1701111011 | d)11101110100

6. The result of 110.01%101
)1 1011.1101 ' %b)lOOM.Ol ¢)10101.01 d)10101.01

|
i - . S




. e

7. The number 6BD 4 equwalents to octal number

| 5)3275

|
‘
a)1238
| |
. Answer Table Section 2
|
| Question no B |2 13
- Answer | l

LoRsT8 . i

| Section 3: (9 marks)

|
| . .
. Answer the following
|
|

|

Function (s)= Al.[a.b]
Sum = a+b;
While(Sum<10)

l Sum = Sum+i;

‘? print(result)

" a. find the error and correct it in the following program

I ,

n
a
i

' B.Draw a flow chart and write the algorithm of the following ploglam

' The algorithm ask the user to enter a va
f lfowing series

Flowchart

lue x then the script computes the first 10 terms of the

2
o

X
2

s=x+—+—0+—FF

x3 x*
5 4
| Algorithm

\
\

O



== Best Wishes ==
DriaaFatiim é))& Dr. Abdas- &/ﬁ'em Fastien
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remarks e Solve all the following questions:

Question no. 1 (15 points).
1. Find the following limits: (4 points).
\/7 1-cos6 VxZ+2
(l) llr_n x+8 (ll())_)l(;m Osind (lll) xl—l>moo 3x—6 (ll?) ll -5 (5— x)z
2. Find a, b such that f(x) is continuous: (5 points).
ax, x> 3
4x + b, |x| <3
f(X) - xZ -9
, X< -3
x+3
2
3. Flnd x, s }2/ tangent line, and normal line at (;—t, 1): (6 points).
sin (xy?) = x
Question no. 2 (10 points).
1. Find maximum and minimum values of: (3 points).
f(x) = 9x'/3 — 6x'/3
2. Write (2.343434) as a fraction. (3 points).
3. Find Maclaurin polynomial for: 1/(1 — x)? (4 points).
Question no. 3 (15 points).
1. Use Gaussian elimination to solve the system: (6 points).

2x—-5y+5z=17
x—2y+3z=9
—-x+3y+z=-2
2. Find the partial fraction decomposition of: (5 points).
4x3 — 6x2 —11x— 6
£ 45— 6x?
3. Find the (10" term) and the coefficient of: (x” — term) in the binomial

expression: (4 points).

(3x — 2)16
Question no. 4 (10 points).
Determine the series as Convergent or Divergent: (each 2.5 points).
2n+1 3vn+1 w 20 w 5"
(@) Xn=15 0) Xn=1552 (©) Xn=13m77 @) Xnt1—
Best wishes Prof. Hassan ElI-Hawary
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